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int *p,*q;
p=new(int);
g=new(int);
P=q;
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int  func(){
static int
1++;
return 1i; }
int main(){
for(int i=0; i<=10 ;i++)
cout<< func();
return 0;}
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Fun Pnu(r): float=3.14*r*r;
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int main() { double .o int .l

float f; int a,c; double b; Uad .o float c
f=a+b/c;
return 0; }
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struct record {
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union record rec;
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Procedure proc(arr,index : X; LB,UB: Y) § oy i 0 Y 5 X
Var temp:integer;
Begin Slie b SIeal 8 Y —alb b Slsal s Xocall
For index:=LB TO UB do
Temp:=temp+arr;
Write(temp); ol b Alsal 3 Y —pla )l b Slsal 8 X
End;
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int c[2];
int m;
c[1]=6; c[2]=T;
m=1;
R(&m,&c[m]);
for(m=1;m<=2;m++)
printf(%d,c[m]);
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K:=0;
For (i=0;i<10;i++)
K:=k+1;
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float funcl(int x,float y,char c){
const int a=20;
float b;
char c¢;
int  w;
Sub ‘LAL‘_).‘ _):‘_) UT-“-)%‘ &:J‘J\}:-I—HJ
return (b )

}
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struct student {
int number;
float grade[10];
Jarray[100];
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Program main;

Var i,ak,m :integer;
Procedure Q(m:integer; var i:integer);
Begin
1:=i+k; m:=a+2;
Writeln(‘in Q:’, i,a,k,m);
End;
Procedure P(a:integer; var i:integer);
Var k:integer;
Begin
k:=4 1i=i+k; a:=a+k;
Q(a,b);
End;
Begin {main}
1=1; a=2; k:=3;
P(k.1);
Writeln(‘in main:’, i,a,k);
End.
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